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. A patient drives 19 miles one way to medical facility for treatment. How far does the
patient drive round trip in 22 days of treatment?

836 miles

1672 miles

418 miles

1254 miles

. A family is planning a driving vacation and is estimating the cost of gasoline. While
on vacation, the family plans to drive 3,000 miles. The car goes about 25 miles per
gallon, and the cost of gasoline is $1.66 per gallon. Which of the following is the
estimate for the cost-ii the gasoline for-gasaline forthe vacation?

$120.00

$41

$199.20

$72.29

. To determine the insurance premium of a car, an insurance company considers the
following determinants the age of the car, the model of the car, and mileage of the car.
Which of following is the dependent variable?

Insurance premium

Age

Model
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o Mileage
4. Graph indicating price in thousands of dollars and years between 1984 and 2016.

Following the trend, the estimated average price of a home in 2016 would be

$140,000.

5. Simplify the expression below.
(18x%yz) = (6xyz*)
(3x4y)/ 2
3x%yz8

x4z
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